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1. Introduction
In last meeting, the core part maintenance and perf part maintenance were discussed. Some progress on perf part were achieved in [1]. They are summarized as below:
	[bookmark: _Hlk163639826]Issue 2-1-1: Test configurations for SSB-less
· Agreement on Test configurations for SSB-less
· Single P-TRS is configured in SSB-less SCell in the SSB-less SCell activation TCs
· Don’t configure the parameter SCell measurement cycle (measCycleSCell), SSB configuration and SMTC configuration for SSB-less SCell
· Set EPRE difference as [9 dB] + [ΔPL] in the test cases. 
· the [9] can be updated to the same number as in core requirement if any updates on the core requirements.
· Pcell has [higher or lower] EPRE than Scell.
· Further discuss whether and how [ΔPL] can be reflected in the TC.
· ΔPL is the power difference caused by BW difference and/or frequency difference between two Cells.
· Encourage concrete proposals on how ΔPL due to BW difference and PL difference can be reflected in the test.
· The TCI.State.0 could be used for the TRS of the SSB-less SCell with an additional note that the reference signal is SSB0 from spCell.


In this document, we provide our views on the ΔPL setup in the test case.
2. Discussion
Based on the progress in core part, the condition of power imbalance for inter-band CA SSB-less SCell activation is defined with the prerequisite of UE pre-compensation operation. The part of ΔPL should be addressed through UE pre-compensation according the prequency separation, and the residual EPRE offset should not larger than [9 dB]. 
The part of ΔPL implies the pathloss difference caused by the frequency separation between the reference cell and the SSB-less SCell. Based on the pathloss models in [3],ΔPL = 20*log(f1/f2). Since the power difference is actually the EPRE difference, so no need to consider the BW difference.  
In the test, f1, f2 is the frequency of reference cell and the inter-band SSB-less SCell respectively. UE can derive the ΔPL based on f1, f2, and pre-compensate such difference. In the test setup, the receiving power difference between reference cell and the inter-band SSB-less SCell is equal to [9 dB]+ΔPL.
Proposal 1: In the test setup, the receiving power difference between reference cell and the inter-band SSB-less SCell is equal to [9 dB]+ΔPL, where ΔPL = 20*log(f1/f2).
3. Conclusion
In this contribution, we have the following proposals for the Network power saving:
Proposal 1: In the test setup, the receiving power difference between reference cell and the inter-band SSB-less SCell is equal to [9 dB]+ΔPL, where ΔPL = 20*log(f1/f2).
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